Exercice 46

A 
= (2x + 7) + (3x – 6) -( -5 – x)
B 
= (3 – 5y)  -(- 3 - 4y )-(- 8y -1)
C 
= -2 + (5 – z) +(-3 + 6z) –(-y – 6)
D 
= -(x +5y) –(4 - 4y)  + (- 3 + y)
Exercice 47

A 
= (x – 2)(x – 13)

B 
= (y – 5)(y – 3)

C 
= (2x – 10)(x – 3)

D 
= (y – 2)(3y – 3)

Exercice 48 

E 
= 2x – 4y + 5 + 5y – 3x – 7

F 
= -12t – 4z – 3 + 2t -3z - 3

G
= 4 – 3t – z + 5z – 13t – 4

Exercice  49 

A 
= (2y + 3) (y + 4)

B 
= (13x – 2)(7 + x)

C 
= (5z + 4)(3z – 2)

D 
= (3x – 1)(5 – 2x)

Exercice 50

E 
= 4(x + 3) + 2(5x -4)

F
= -3(x - 2) + 5 (x – 7)

G
= 2(y – 5) – [6(1 + 2y)]

Exercice 52

M 
= -(3z + 2) – [4(2z + 1)]

N
= 4t – (t + 3) + t(t + 2)

P
= z(z -1) – [3(z + 2)]

Exercice 53

S 
= 3[(x + 2) – (3x + 5)]

T 
= 5 [ - (x + 1) + 2(3 + x)]

U
= 2(y + 1) – [(3 + 2y) – (5 + y)]

V
= 7[(2z + 1) – 3(z – 13)] + (z – 3)×15

Exercice 56

A 
= 3x² - (4 + 2x – 3x²) + (9x + x² - 4)

B
= (8x² - 8) – (7x – 7x²) + (6x² - 6x)

C
= 2(y² + 3y -1) – (-7 + 4y – 3y²)

D
= -5(3 + z -4z²) – [2(4z² - 3z + 11)]
Exercice 63


[image: image1.wmf](

)

(

)

3

121

5235

3

Axx

=--+-



[image: image2.wmf](

)

(

)

9

42

5154

3

Btt

=---



[image: image3.wmf](

)

(

)

33

11

7337

C=

yy

-+-



[image: image4.wmf](

)

(

)

659

42

35635

Dzzz

=----+


Exercice 64
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exercice 65


[image: image9.wmf](

)

(

)

33

14

5323

Ixx

=++



[image: image10.wmf](

)

(

)

353

4

7524

Jyy

=+-



[image: image11.wmf](

)

(

)

63

42

31154

Ktt

=-+



[image: image12.wmf](

)

(

)

373

2

5347

zz

L

=--


_1195878224.unknown

_1195879269.unknown

_1195879824.unknown

_1195880055.unknown

_1195880318.unknown

_1195879651.unknown

_1195878756.unknown

_1195878987.unknown

_1195878529.unknown

_1195877789.unknown

_1195878001.unknown

_1195877530.unknown

